Part 1

Name: Tracy Duncan

Profitability Ratios-Found in the company’s income statement

1) $1,307,000 / $48,769,000 / 2.7%

2) decrease / 3.6%

3) increase / increase/ Federal Income Tax

4) $15,249,000 / $1,824,000 / 12% / increase/ 10.7%

5) $12,193,000 / $1,307,00 / 10.7% / deterioration / 15.2%

Activity Ratios-

1) $48,769,000 / $22,780,000 / deteriorated / 2.17 / 2.14

2) $7,380,000 / $133,614 / 55.23 days / improvement / 58.67 days

3) $8,220,000 / $29,700,000 / 3.61 / deterioration / 4.76

4) $5,160,000 / $48,769,000 / 9.45 / improvement / 7.98

5) a. profit as a percentage of sales
b. return on invested capital
c. return on equity

d. total asset turnover
e. average collection period
f. inventory turnover ratio
g. fixed asset turnover ratio

6) A decrease in inventory turnover. Although more information would be necessary to determine the severity of the problem (ex. is the company burdened by excess inventory due to inaccurate predictions of demand, or have they created a new product line and are awaiting a subsequent increase in demand?), a look at the activity ratios shows that decreased turnover is reducing profits. There is a buildup of inventory relative to sales. This ties up capital that could be used elsewhere to increase profitability.

Leverage Ratios-

1) $10,587,000 / 47% / decrease / 49%

2) 43%

3) $2,528,000 / $517,000 / 4.89 / deterioration / 7.13

4) $2,820,000 / 9% / increase / 8% / less

5) Dilution of ownership through the issue of new equity / decreased profits as a percentage of sales.

6) increased

Liquidity Ratios:

1) $17,620,000 / $7,531,000 / 2.64 / deterioration / 2.41

2) 1.25 / deterioration / 2.42

Assuming Magnetronics is in the field of electronics, how should the firm have profited in this time period?


The mid-to-late 1990’s gave the US economy its longest uninterrupted period of growth in history, thanks largely to technology and electronics companies. If Magnetronics was effectively managed during this period, it should have experienced growth and profit at least on par with the industry in aggregate. A comparison to Intel, one of the star companies during this period, shows that Magnetronics is far behind in comparison. Magnetronics experienced a reduction in its profit as a percentage of sales...going from 3.6% in 1992 to 2.7% in 1996. Conversely, Intel’s profits as a percentage of sales increased dramatically, from 18.3% in 1992 to 25% in 1996. Interestingly, Intel and Magnetronics experienced similar inventory buildups during this time period. Both firms had issued large amounts of new stock during this period. Intel, however, experienced an increased times interest earned ratio, which shows that Intel should have no problem securing additional debt for new projects. Magnetronics however, will have a more difficult time securing additional credit. In short, Magnetronics has performed significantly below the industry during this time period.

Note- Intel is most likely, not the best stock to use in comparison. Over this time period, Intel’s business and market value increased at a rate few had predicted. I have used Intel as an example simply because it was one of the few electronics companies I could find with historical financial data available during the ’92-’96 time frame.

If you were offered a position with Magnetronics, what would be your response?


Considering the trauma I have experienced attempting to find a job in the current market environment, I would probably agree to work for Magnetronics. However, my brief analysis of the company has given me a great deal of information I can use to plan how long I intend to stay with the firm. As a recent graduate, my goal now is to gain experience, then move to another firm when the opportunity arises. With the knowledge of Magnetronics’ inventory problems, as well as their marked decreases in times interest earned and return on equity, I will know where to look for signs of trouble. Magnetronics may have a harder time securing additional debt due to their deteriorating times interest earned rate. In fact, this may have caused their large stock issues during the 1992-1996 period. If Magnetronics issues more stock, this could signal their inability to secure more debt, and would let me know I should begin scrutinizing the classifieds. If the inventory problems remain unresolved, and continue to reduce profits, I should look for employment elsewhere. Through ratio analysis, I can pinpoint the areas of the firm that I should keep a close eye on during my employment.

If you were offered stock options in lieu of salary increases or bonus, how would you respond?


The 59% increase in the amount of owner’s equity between 1992 and 1996 resulted in a sharp decrease in the company’s return on equity. While I would like to see how Magnetronics' stock has performed at market over this period, I would be reluctant to accept stock options in lieu of salary increases or bonuses out of fear that the return on equity would continue to decrease, causing a decrease in the market value of the stock, in effect short-changing me in comparison with the income I could generate with cash bonuses or increased salary by investing in the open market.

Part 2:

	Project Number
	1
	2
	3
	4
	5
	6
	7
	8

	
	
	
	
	
	
	
	
	

	sum of cash-flow benefits
	A $3,310,000 
	B $2,165,000 
	C $10,000,000 
	D $3,561,000 
	E $4,200,000 
	F $2,200,000 
	G $2,560,000 
	H $4,150,000 

	Excess of cash flow
	I $1,310,000 
	J  $165,000 
	K $8,000,000 
	L $1,561,000 
	M $2,200,000 
	N $200,000 
	O $560,000 
	P $2,150,000 


1) Projects cannot be accurately ranked based upon the cash flows that they will generate, due to the time value of money (TVM) which dictates a dollar today is worth more than a dollar in the future. Direct cash flows cannot account for TVM, and decisions made based solely upon cash flow inspection would be flawed.

2) In order to choose which projects the firm should invest in, we need analytical tools that take the time value of money into account. The two tools used most often by financial managers are Net Present Value analysis and the Internal Rate of Return generated by a project. The third main quantitative tool is to calculate the payback period for a project, but this does not account for the time value of money. Net Present Value provides a method to judge projects that takes TVM into account by discounting future cash flows. A net present value of zero indicates that the project’s cash flows will be sufficient to repay the initial investment and provide the required rate of return to the investors. A positive NPV indicates that an excess return will occur and provide value for the firm’s shareholders. A project with a higher NPV indicates a project that will generate a greater return to the shareholders than a project with a lower NPV.

The Internal Rate of Return (IRR) for a project represents the rate of return a firm expects to earn is the project is purchased. If a project has an internal rate of return that is higher than a required rate, then it is an acceptable project for the firm.

3)

The ranking of projects depend upon both the analytical tool used, and for NPV, the predicted discount rate over the life of the project.

	
	1st
	2nd
	3rd
	4th
	5th
	6th
	7th
	8th

	NPV @ 9%
	3
	4
	8
	5
	7
	1
	6
	2

	NPV @ 10%
	3
	4
	8
	7
	5
	1
	6
	2

	NPV @ 11%
	7
	4
	3
	8
	5
	1
	6
	2

	IRR
	7
	4
	8
	3
	5
	1
	6
	2



This ranking differs significantly from a ranking obtained by a simple inspection of the cash flows generated by the projects. The time value of money has a great influence upon the attractiveness of the projects. Based solely upon cash flow inspection, project 3 would be ranked first, as it generates the most income of all projects available. NPV analysis looks at the fact that project 3 generates income only upon the 15th year and adjusts its present worth accordingly. As can be seen on the chart above, project 3 is ranked first only at lower discount rates. A larger discount rate increases the worth of money currently in-hand (it can generate a greater amount upon reinvestment) and makes project 3 less enticing, as it is projected to generate no income until year 15.


Internal Rate of Return is cannot usually be used to compare projects unless they are mutually exclusive. If only one of the projects can be chosen, then the IRR rankings can be used to determine which one should be chosen.


Depending upon predicted discount rates over the life of the project, the rankings will differ slightly. However, the best performing projects remain at the top of the rankings and the worse performing projects remain at the bottom.

4)

Project 1: This project generates a moderate income for 7 years, and then a great amount of income at year 8.  Cash flows like this may be explained by creating office spaces, then leasing them for a specific time (7 years) and selling them to the lessee during the 8th year.

Project 2:  This project generates income for three years, with the greatest income occurring during the first year. The cash flow then decreases geometrically for the next two years. This could be the cash flow for a fad product, like the infamous Cabbage Patch Dolls, that generates a large income at first, then tapers off dramatically.

Project 3: This project generates no income until its 15th year, whereupon it creates a great deal of income. The best example of a similar real-world cash flow would be at a vineyard that ages its wines. The initial investment would account for the cost of producing the wine, which would not be sold for 15 years as it ages.

Project 4: This project creates an unevenly increasing cash flow until its 25th year. On year 15, it absorbs an amount equal to its initial investment. An uneven cash flow like this could be explained by an operation such as strip mining, where income will vary from year-to-year, have a generally increasing cash flow (provided the proper mining location is chosen) and would have a large cost at the end of the project for environmental remediation.

Project 5: This project creates a steady, moderate, source of income for 15 years. Many business-to-business (B2B) networking transactions work in a similar manner, with a company licensing software (accounting/inventory/transaction/etc) to a company for a flat fee. In order for this cash flow to be accurate, however, the project would have to have a specific number of clients/purchasers.

Project 6: This project creates a moderate amount of income over its short (1 year) duration. This cash flow accurately describes a consulting project, where expertise is sold over a (comparatively) short period of time. The initial investment outlay could be necessary for hiring employees and infrastructure for the project.

Project 7: Project 7 creates an exponentially decreasing source of income over 5 years. It is similar to project 2, but it creates greater income over a longer time period than project 2. Project 7 could also be a fad project, or a project with a finite lifespan. A specific model of microprocessor would generate a great deal of income when newly released (and presumably top-of-the-line), would be sold at an increasing discount in subsequent years, until it becomes unprofitable and is retired.

Project 8: Project 8 creates an income stream that is negative for its first 2 years, but becomes positive in its 3rd year, with income increasing thereafter. This pattern is generally indicative of a project with a large infrastructure investment, such as building a pipeline, or a cell phone network. Any income created by the infrastructure after year 15 is not indicated, so we are unsure whether the project will be terminated after year 15, or if management wished to see projects on a 15 year timeframe.

The investment Detective

	Project
	1
	2
	3
	4
	5
	6
	7
	8

	total life of investment
	8 years
	3 years
	15 years
	15 years
	15 years
	1 year
	5 years
	7 years

	payback (years)
	7 years
	2 years
	15 years
	7 years
	8 years
	1 year
	2 years
	7 years

	Average ROI
	20.70%
	36%
	33.30%
	11.87%
	14%
	110%
	25.60%
	29.60%

	Net Present Value at
	
	
	
	
	
	
	
	

	9%
	 $ 162,741 
	 $(630,282)
	 $ 745,380 
	 $ 335,580 
	 $ 256,993
	 $ 18,349 
	 $199,338 
	 $ 323,978 

	10%
	 $ 73,056 
	 $ (85,455)
	 $ 393,921 
	 $ 228,222 
	 $ 129,702 
	 $ 0   
	 $ 165,041 
	 $ 182,984 

	11%
	 $ (11,049)
	$(107,371)
	 $ 90,044 
	 $ 126,568 
	 $ 13,444 
	 $(18,018)
	 $ 131,726 
	 $   51,131

	Internal rate of return
	10.87%
	6.31%
	11.33%
	12.33%
	11.12%
	10%
	15.26%
	11.41%


Part 3: Ethics


The global economy is here to stay. Global and multi-national firms will continue to expand and diversify their operations in order to achieve ever-greater economies of scale, access to natural resources, and cheap labor. However, many ethical issues are being raised by the multinationals. Is a sphere of operation considered “unsafe” for one nation “safe” for another? Are companies obligated to meet the highest standard of public trust? Perhaps the most dramatic voicing of these questions occurred following the catastrophic disaster at a Union Carbide chemical plant in 1984 in the city of Bhopal India. Due to insufficiently maintained equipment, as well as employee negligence, an over 40 tons of the toxic gas methyl isocyanate (a derivative of cyanide) was released into the city. Over 2,500 deaths occurred, and a staggering 300,000 were injured. I believe that Union Carbide violated the public trust, or rather public trusts of both India and the United States 


Immediately following the accident, Union Carbide maintained that the leak occurred intentionally as an act of sabotage. The Indian government countered that the accident was caused by unsafe production and storage, inadequate safety systems, and insufficiently trained employees. While legal necessity might have prevented Union Carbide officials from taking more of the blame, insisting that the tragedy occurred as a result of malicious intent seems shallow and riddled with racist assumptions. In this case, Union Carbide violates the public trust of the community it has profited from by attempting to shift the blame to its inhabitants.


Secondly, Union Carbide seemed to provide insufficient employee safety training and allow lax management policies. Many of the safety systems (computer monitoring systems, refrigeration units) for the isocyanate tank had been inoperable for months at the time of the leak. Potential leaks were monitored using employees’ physiological reactions (irritated eyes, coughing) rather than through the mechanical safety systems that had been installed. Needless to say, this is blatantly unethical behavior.


Finally, Union Carbide did not adapt their technology or plant design to minimize potential leaks. The isocyanate was contained in a single tank. Many other chemical companies store potentially disastrous agents in several smaller tanks to mitigate the potential damage that may occur if a leak were to occur. I believe that Union Carbide should have at least designed the Bhopal plant in a similar manner after taking into account the lower technological experience of their employees.


Union Carbide experienced firsthand many of the pitfalls involving the move to a global economy. While Union Carbide reaped the benefits of their operations in India, they committed a grievous error in not training employees or managers sufficiently. They failed to adapt their technology to the inherent risk of the environment it would be used in by using only one large tank. They added insult to injury by blaming the “natives” rather than showing accountability for the accident. As a result, they violated the public trust of India and the United States. Hopefully, Union Carbide learned difficult lessons in both their global implementation and their behavior following the disaster. 

